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FA: o2t
B O0IC A A3
Eelr HQHEHIANY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HOHEHIANY X 2,386,300 3,521,700 A1,135,400
= 2,045,000
== 341,300
HOtEH| 2,316,300 3,461,700 A1,145,400
= 2,045,000
< 271,300
403 MR EHHSAHE01H 2,316,300 3,461,700 21,145,400
[ 2,045,000
= 271,300
01 XM A =2 E 2,316,300 3,461,700 A1,145,400
O HEHIAY 2,316,300
[ 2,045,000
= 271,300
MM EIHBE (ST XH) 70,000 60,000 10,000
307 elzto| & 70,000 60,000 10,000
02 2IZHBHAIHE & 70,000 60,000 10,000
OF Aot 2Hgor A1 K& 70,000
CAgd = 11,882,623 13,511,699 1,629,076
[ 9,837,040
= 2,045,583
CHNE H2AM 22X (21) 325,000 346,970 A21,970
[ 250,000
= 75,000
308 XtXIEMSO0IH 325,000 346,970 21,970
= 250,000
=S 75,000
01 XN B2 LS 325,000 346,970 A21,970
CHE2AE 2SR 325,000
= 250,000
< 75,000
CME o2 2RI (XHA) 61,985 85,120 123,135
201 fer= 3| 20,000 20,000 0
01 AtR2tc|HI 20,000 0 20,000
O=ANE 28XE 22/AAE RAIE+ 20,000
308 AFAIEHMSOIH 41,985 65,120 A23,135
01 RSN B EES 41,985 65,120 N23,135
OL2ls EAY oA 28 X2 41,985
2SN 22 X (21) 58,500 0 58,500
= 45,000
[ 13,500
308 AHXIEMSOIE 58,500 0 58,500
[ 45,000




FA: o2t
B O0IC A A3
el Mg =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,500
01 HASHHBSEEXS 58,500 0 58,500
O A S22 X 58,500
[ 45,000
= 13,500
XS A 2EX(AHH) 300,000 180,000 120,000
308 XXM SOIA 300,000 180,000 120,000
01 AXNBEES 300,000 180,000 120,000
O8RS o2 2K (XA 300,000
& Xe Mass 29 JIA(=21) 40,300 0 40,300
= 31,000
< 9,300
308 AHAIEMSOIE 40,300 0 40,300
[ 31,000
= 9,300
01 HAHHBSExRS 40,300 0 40,300
Od XY =% 28 X2 40,300
[ 31,000
= 9,300
SN MEE HASTRHI X (XHH) 5,100 5,100
308 XXM SOIA 5,100 5,100
01 XN B2 LS 5,100 5,100
OT A MEE siaszHl X2 5,100
JIZMED|IUEE, FUASSH, NP2, =0 10,068,750 12,160, 125 £2,091,375
EEE S
[ 8,950,000
= 1,118,750
403 AXIEHHSA=201H 10,068,750 12,160,125 2,091,375
[ 8,950,000
= 1,118,750
01 AR A =2 £ 10,068,750 12,160,125 2,091,375
OS&2 X 10,068,750
s 8,950,000
== 1,118,750
AR 500,000 0 500,000
[ 500,000
403 X SHHMSAH=01H 500,000 0 500,000
s 500,000
01 AXISHHA=2E2 X 500,000 0 500,000
O8Y=XN SN 500,000
[ 500,000
& P &Y 1,100 3,900 /2,800
201 Zet=3hl 1,100 3,900 /2,800




SN GH2Eer
M QIOIE N EdE
el Mg =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,100 3,900 /2,800
OASHIZE A2 SYES ALY 2e 1,100
SO & AL XIS 33,000 18,000 15,000
308 AXIHS0IA 33,000 18,000 15,000
01 HRHHBSEELS 33,000 18,000 15,000
9| ¢ AL NI 18,000
O8=2 Ateld J|2d gah 2 15,000
M58 &9 & AL WE(2IHEEXIH) 420,000 0 420,000
308 XXM SOIA 420,000 420,000
01 AXNBEES 420,000 420,000
ORMI52| &2 & AL JHAl 420,000
d0t2 =@ LPG A& 2= 68,888 291,984 N223,09
= 61,040
< 7,848
403 MR HHMSAHE01H 68,888 291,984 N223,09%6
[ 61,040
= 7,848
01 AXISHA=2E2 X 68,888 291,984 N223,09
Od0tE &©2 LG AlE 725 68,888
[ 61,040
= 7,848
oS 2kt H = 3,520 303,200 A299,680
ofgB2tee] XS Rs S 29 3,520 3,200 320
201 er23 | 3,520 3,200 320
01 At2teltl 3,520 3,200 320
Odlgszttel N?de § 29 3,520
HeEs(o=28ett) 1,093,750 498,750 585,000
LIS HHXIE 1,093,750 498,750 595,000
Neiedl= ole== OlAtatet 1,093,750 498,750 595,000
705 D=3 3cISaE 1,093,750 498,750 595,000
04 Al - EXISHE DI S0==01 ket et 1,003,750 498,750 585,000
OXNSNLI = SAA Ol Xtatat 1,093,750
A2 ZHI(H2&etn) 70,980 71,075 NG5
Jl2dl(ai2eern) 70,980 71,075 A95
Jl23HI (G 28etut) 70,980 71,075 A95
201 et 3| 33,600 33,915 A315
01 At22t2l] 33,600 33,915 A315
O 28t P2 FA 33,600
202 04l 33,600 33,380 220
01 SLHoIH 33,600 33,380 220
Odli2elt ge=d 33,600
203 HE=AH] 3,780 3,780 0
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